SPARE PARTS LIST FOR CITY RANGE
QUADRANT

%

MARK 7,'\( MEANS IT HAS BEEN ASSEMBLED

YH-E1, WALL PROFILE FOR CITY RANGE

& x6

& PIVOT DOOR

ST3.5X12mm SCREW
@) X8
ST3.5X40mm SCREW
CTSCP-QU SCREW PACK FOR ﬂW@ X6
ST3.5X40mm SCREW
QUADRANT = X6
WALL PLUG
S Xx12
SCREW CLIP
X12
COVER CUP
CTGSK-QU GLASS GASKET FOR N x4
QUADRANT DOOR S018A
SEAL- QU SEAL FOR &]
QUADRANT DOOR YH-S1 x2
YH-QUS2 x2
HANDLE FOR CORNER e X2
YH-HD1/PAIR HD1
ENTRY & QUADRANT
CTMS-QU MAGNETIC SEAL FOR FW)“
QUADRANT DOOR YH-QU/M
ROLLER PACK FOR 6 §H T§4
YH-TR/BR | CORNERENTRY & X
¥ QUADRANT % 4
YH-BR
STOPER FOR @ X8
YH-STP CORNER ENTRY & ST4X10mm SCREW
3% QUADRANT ¢X4 % X4
YHC-SC02-2 YHC-SC02-1
GLASS CLIP FOR @ X4
B CORNER ENTRY & ST3.5X12mm SCREW
e @ px
% QUADRANT
€010-1 €010-2
TOP ROLLER FOR
YH-TR CORNER ENTRY @ X 1
QUADRANT & SLIDING DOR YH-TR
BOTTOM ROLLER FOR
YH-BR CORNER ENTRY % X1
QUADRANT ,SLIDING DOR YH-BR
HANDLE FOR CORNER ENTRY o o X 1
YH-HD1 |&QUADRANT & SLIDING DOOR HD1

YH-E12-QU/A ,TOP&BOTTOM TRACK FOR QUADRANT 800*800MM
YH-E12-QU/B ,TOP&BOTTOM TRACK FOR QUADRANT 900*900MM
YH-E12-QU/C,TOP&BOTTOM TRACK FOR QUADRANT 800*1000MM
YH-E12-QU/D , TOP&BOTTOM TRACK FOR QUADRANT 800*1200MM
YH-E12-QU/E ,TOP&BOTTOM TRACK FOR QUADRANT 900*1200MM




